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int seqgsearch (int n, const keytype g ], keytype x){
index p=1;
while(p<=n && 9p]!=x)
p++;

if (p>n) p=0;
return p;
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void binsearch (int n,const keytype § ], keytype x, index& p){

index low, high, mid;
low=1; high=n; p=0;

while (low <= high && p==0){
mid = [(low + high)/2];

if (x==9mid]) p=mid;
else if (x<gmid]) high=mid-1;

else low =mid+1;

}
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int fib (int n){
if (n<=1) return n;

else  return fib(n—1) + fib(n - 2);
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int fib(int n){
index i,
int f[0..n];
f[0] =0;
if (n>0){
f[1] = 1;
for (i =2;i<=n;i++)
f[i] = f[i-1] + f[i-2];

}
return f[n];

}
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Sl plas T(n) = 100T(9—”9) FIg(N) x5k ab Ole> —VF

q(nlg?n) (4 q(nign) (3 q(n'®) (2 q(n?) (
sl a3 T(N) 6Tyt 525 Latlgy 31 ot oIS g s i 50 1, T(N) = 2T(E/N() +1gn &b 10

O(n.Ign.lgn) (4 O(n.Iglgn) (3 O(lgn.lglgn) (2 O(lglgn) (1
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Sl 125 slo 43235 5 S A1) ZB1 () + NIGN G855k abal Sy -7

q(nign) (4 q(n*lgn) 3 a(n) (2 qign) (1
S gazmio 49 35 IS ol 0l dlino 5 (bS5 Aty Gallan gy 56501 g1y o F(N) -1V
f(n)=n?+nf(n-1)
f)=a
f(n)=q(n!)* (4 f(n)=q(2") (3 f(n)=q(n!) (2 f(n)=q(2")(1
Tl 435 oIS plp e (Gloj @b L (oo 5951 (Sloj 4 o —VA
T(n)=3T(n-1)+4T(n- 2)
T0)=0,T(@) =1
n*lgn (4 2"Ign (3 4" (2 n’ (1
9 D9l (g0 iy 315 O y9u0 & 4 bl (00 T(N) 2l (69959 yaie N (59 w2 95! sy o WS (8 -4

Sl plas O(N) @93 i 1951 51yl yloj @ yg0 o
T(n)=T(n-1)+n-1

T =1
nlo n-ﬂ(4 n—2-2(3 n2+ 1 (2 n_2+£(1
93 2 2 2 2 2
Sl o105 53 5 ois 3951 (21521 A o — Yo
int f(int n){
if (n==Y) returny;
else return f(n-1)+f(n-1)+y;
}
n
0(22) (4 O(nlogn) (3 oM (2 o(n) (1
Sl plas T(N) @900 o) 50 0 585 15 50 1) 5 (bS5 by Y
il if (n=2)
T(n) =i

1 2T(n-D+1  if (n>1)
2"-1(4 n’log} (3 nlogh+1 (2 2"+2 (1
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(sl ) IS D9 (58 o2 s8I (Floj (S dazrny

int fibo(int n){
if (n<=Y) return n;

else return fibo(n-1)+ fibo(n-¥);

}
T(N)=2T(n-1)+1 (4 T(N)=2T(n- 2)+1 (3 T(n)>n? (2 T(n)>2"2 (1

(el ¥ 51 Glg N g N>Y) Sl plus 398 @b (Sloj Sz - & 51553 1) 2§ (Sl 5b @b VY
T(n) =218 %n-1
€2g
T@W=0
o(2Ilgn) (4 o(nlgn) (3 o(n?) (2 o(lgn) (1
o 39S (Sl ) (T dmiry -0 S a0 puaie N ol A 1T jo X (gommimr (sl 1y 325 ke ysSII -V F
(WSl 69959 X, TOP =N, dOWNZY Tyl 13 musS (5 39) T am
int search (int down, int top){
int t;
if (down >top) return .;
else{
t= (down + top) div ¥;
if (x==A[t]) return t;
else if (x <A[t]) return search (down, t-y);

else return search (t+1, top);

olgn) (4 o) (3 o(nign) (2 o(lgi,) (1
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f(n) +g(n) = O(max{f (n),g(n)}) (z
Iy ) Doge 4 olg oo, T(N) b (1-2
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S oo ) b A el >
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1ol 5L gez Joo T F(L1L) asle 612 NF5 (I3l & digas 5k o
F(11) = 2K(2,0) + F(2.1)
F(2,0) = F30) +F3ED
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D93k gez oo T 4 a8 0S o odslive 09 Lastine (1,1) &l b ools aslsl 1y Jlg, ol ol oo cawss (B51) wils
0 1

2*7+10=17
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o3l Lol axis Lol alt e e 45 alians 5 (i & Jiluw (divide-and-conquer) o g peds o, 5o
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25 oo Jol> yiSsS sle diged S 955] Sy 5 il 4 (28,
st o S5 5 sy S S50 1y o Ysene Jo g s sl o )58 >ib plRin S35
J> 9 e ()
il 2y dole Jolds Jo g o (Al 3 2,
PSS diged diz b S & alins S 5l gl digas i -1
(oS oo oolictl a8l 5l aings SzgS (B 08 @ i8S sl digas S1) 2528 slo wiges Jo -2
1 Cawdy ddgl diged Jo B oo, oS5 1) 5868 slo digad Jo> LS Q)yo)é's
1999 ST
Vb Gy el )sil ol ieeps (oo Al (dS5L a5 SO > ol )0 0l gy B R j0 (09990 (seiu (5,],S5 s
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index bsearch(index low , index high){

index mid;
if (low>high) return 0;
else{
mid = ¢(low + high) / 2(;
if (x==9[mid]) return mid;
eseif (x < gmid]) return bsearch(low,mid-1);

else return bsearch(mid+1, high);
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void mergesort (int n, keytype § ¥
const int h=[n/2] ,m=n-nh;
keytype U[1..h], V[1..m];
if (n>1){
copy §1..h] toU[Ll..h];
copy §h+1..n] toV[1l..m];
mer gesort(h, U);
mer gesort(m, V);
merge (h, m, U, V, S);
1
Sygme o anll 90 ol 51 S0 ;e g wig b (e SV bl o) pgs aes s U ol 50 1, ST Jsl e Vb o2 5301 5
WNgh g0 plesimerge Jly, Lawgs Sa.;'lj)a 4,{1)1 99 ol Colyd Ho g oad oy TSk
pLES o 5951
void merge(int h, int m, const keytype U[ ], const keytype V[ ].keytype S ]){
index i=1,j=1, k=1,
while (i<=h && j<=m)
{
if (U[i] <V { kI =U[i]; i++}
else{SK] = V[J[; j++; }
k++;

}
if (i>h) copy V[j.m] to Jk..h+m];
else copy Uli....h] to Sk...h+m];

plesl w55l 510 o o Jw 50 (Gl (5 ey Julos
s Pt 09,0 )T 99 51 S 5o 50 S5z polie sl (69,5 03l oS oo Sl o V] L U] avglie |, (Lol Joe
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Oelply . merge oYL v Slel )3 10 b anglis slass odle 4y gl oo ploxl (95,9 leie 4 V | mergsort

W(n) = W(h) + W(m) + h+m- 1

plesl sl ¥ ooy 1 hHM-L Vgl oo sl ¥ ooy W(M) U (g5l o sl oY ooyt WI()

. . n i -
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n n n
W(n) = W() + W) +n- 1=2W() +n- 1

o W(l):0 U‘il))L") Qf:f (5“ r:[?ul ‘SQLC Ky 9 ..)9..4 < 00)9—‘13 dLﬂL’ Jo).u ‘ML) 1 5999 o)ld.:‘ ;‘

LS g
w(n) = 2w(g) +n-1
W) =0

eSSk gl U L
W(n)=nlgn- (n-1) T q(nlgn)
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W(n):W(%: +W(§21 +n-11 g(nign)
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void quicksort (index low, index high){
index pivotpoint;
if (high > low){
partition (low, high, pivotpoint);
quicksort (low, pivotpoint-1);

quicksort (pivotpoint+1, high);

!y 31581 oty 59!
void partition (index low, index high, index& pivotpoint){
index i, ]; keytype pivotitem;
pivotitem = S[low];
j =low;
for (i =low+l;i<=high;i++)
if (§i] < pivotitem)

{j++

exchange §i] and [j]; }
pivotpoint = j;
exchange S[low] and S[pivotpoint] ;

555 e 035 5 o &) o oo &y el 5 gmn paie ) ST 5 i S5 poban oS a s, )0
380 e 3950 sl Jgore e 4o Giloj (S oy, Sk
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T(n)=T(0) + T(n-1) + n-1

ez b allns il oy sl ¥ ooyt T(0)


http://www.SANJESH.IR

Al ey byt Nl

La aiges 5l sl aib gl 1) Joome clo 10 Soummn pudlys o a5 Conl (pl oS o0 o0liiw] T(N) oles 51 asayl e 1,573
load o ye (9P e i B3 5145 oS (e

(ATl Hgwd

TN)=T(n-1)+n-1 n>0

T(0)=0
2wl T(N) = y Soge @ SISk Hgies ol J>
D9 oo ezt i abaly bl o oy p0 Gloy Sz
wim =D g

oy yaie Slsie |y paie st olsen 1wl oad i pe B Sl AT a5 wes e g Sloy Sl «
ol S s 53 (597 paie i & T Qe anl Sy L 41T oS 0y o5 2 5 (il oS (e ol
2 o Sl i 50 gley (S (Jy w80 (ood &) 2Bk e ] &5 lSie o Sl iy oS el s,

2S¢ dalys N(N-1)/2

iJlgtw

Sl oaals gy (53l iy ) Ol 1z (g e o poo (o585 (55l 0 3l g (5l e oS Sl iy o
Sl Sl o ol 3 e 410l

& (G5l o po i 598l (6l eSSl > 50 (Gloj (S Sl

e el Gl 0L N B L slael 51 5 ya  PANTItioN lawg oo suils 3506 PIVOLPOINE aSST Jloil 0uiS o (2,8
25 b 5oSile a0 (Sl (Sauzmn 9590 (ol 50 sl e Golue (Sl slasi 4 (S o 51 S 0 a8

A =& S[A(pP- D+A(M- pl+n- 1

p=1
3L P gl (pivotpoint) jeme Joxe 45 o1 Jlaxs! 1
n

sl Pl e Joe & el o T (g5le S0 sl Sibee ey 1 [ ] U jle

S8 sl Y oley 1071

A(n)

el ly )y iS5k e @, = m ool 518 5 Vb alaly (65, (Sldes plxil b



http://www.SANJESH.IR

a,=a,, t———= n>0
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ongs sLaasl)T i e S ol il oo 03,51 15 53 Lo G le ©opd cinyas Gab N7 N e 5o 90 05 o 6l
e L3 CILN[[1.n] )T jo 1) Jol> g 08,5 ©ya 1, B[1..0][1..1] s A[1..n][1..n]
void matrixmult(int n,const number A[J[],B[][],numberC[][]){
index 1, ]j, k;
for (i =1;i<=n;i+t)
for(j=1;j <=n;j++){
Clill1 = ;
for (k=1 ; k <=n; k++)
Clil01 = Clili] + ALK] * BIK][jI;
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m; = (ay;, +a,)(by +by,)
m, =(a, +a,)by,
m; = all(blz - bzz)
m, = azz(b21 - bll)
mg = (ay, +ay,)b,,
Mg = (8 - a,1)(by +0y,)
m; = (ay, - a,)(by +by,)
il oo 5 D0 4 Coyd ol

C= [ml+1rr.4—m5— Mo Mg+ Mg }
- 2 + Tl m1+m3_]‘]‘12 + Mg

125 08 g adlal ApDy, alex sl o B0, FARDY, Rl T Cpp dlne sl digas sk 4 el sl 15
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void strassen (int n, nxn_matrix A ,B, nxn matrix& CH
if (n <= threshold)
compute C = A x B using the standard algorithm;
else {
partition A into four submatrices A1l , Al12,A21,A22;
partition B into four submatrices B11, B12 , B21, B22;

compute C=A x B using Strassen’s Method ;
}

}
31 g Ll o5 e oSl 5l esliiul 358 oo wlam] (] 5o a8 Cenl (gl alais thresholdluce YU sl 5o 1S3
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567,832 % 9,423,723 = (567 x 10° + 832)(9423 x 10°% + 723)
= 567 x 9,423 x 10° + (567 = 723 +9423 x 832) x 10 + 832 x 723
O b 53 5SS o Shasl b ] e L o S5l ysb &l o |y 5SS s olas! (l s
5 ool L) 8laibin] @yb 4wy Joe (oloy ol 10 45 pump ailiw] Jlade o a Bl oo dalsl jaisT s anl s
g (oo plowl (Fampals 1381 e
NGl 0 a8 (S solizal by T g0, bos sl M= Inf2] 5l a8 ol S5 wals S oo o)) slaws 31050
el I 5 00e 0 09250 a8 Slaws
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large-integer prod(large-integer u, large-integer v){
large-integer X,y,z,w; int n,m;

n=maximum(number of digitsin u, number of gigitsinv)
if(u==0 || v==0) return 0;

else if (n<=threshold) return u” v obtained in the usual way;

el se{
m=¢en/2(;
X =u divide10™;y=u rem 10™;w =v divide10™;z=v rem 10";
return prod(x,w) = 10°™ + (prod(x,z)+ prod(w,y))” 10™ + prod(y,2);
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END SaS 4 END 4 BEG ;f o 0 N JUiil s 551

tower (n, BEG, AUX, END)
if (n==1) BEG® END;

else{
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BEG® END;
tower (n-1, AUX, BEG, END).

VL e, (S 5L ala
TN)=T(n-D)+1+T(n-12
T =1
L ool plp dslee cpl lsz 0l (o T(N) = 2T(N- 1) 41,05 (ssile sl 2 o268 (2285 abasly ool ol
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i iTLABO)=A®C (1)
‘TRACB)={A®B (2
i iTALCAB)=C® B (3
T(3A,B,C)={A® C (4)

! iTLB,CA)=B® A (5
iT(2B,A,C)={B® C (6)

i ITaABO=A®C (7)
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Procedur e Binsear ch(a:elementarray;x:element; var left,right,j : integer)
var mid : integer;
begin
if (left<=rigth) then
begin
mid:=(left+right) div v;
case compare(x,a[mid]) of
'>' : Binsear ch(a,x,mid+,right,j);
< oauh Bis IS

= j:=mid;
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end;
Binsearch(a,x,mid-1,leftj); (2 Binsearch(a,x,mid-1,right,j); (1

Binsearch(a,x,left,mid,right); (4 Binsearch(a,x,left,mid-1,)); (3
)l_f a A[\A]:[66“6‘6sY‘sYAsY‘&Y’Asf‘] 4-}‘)." )M&C ‘SW 6‘)-3 ‘) ‘;’9030 ‘SW M}ﬂ' ;‘ -A
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Sy Hlado lyls A[P..r] b aslys plod 51 .cawl 3 @ g 4 QUICKSOrt o 4651 4o partition a9, -4
Tl jodzr Wils 5 (o0 » @98 419y &5 (§)ldo Ly
function partition(p,r : integer): integer;
var X,i,j: integer;
begin
X:=A[p]; 1:=p-Y; ji=r+y,
while TRUE do
begin
repeat j:=j-v until A[j]<=x;
repeat i:=i+y until A[i]>=x;
if i< then swap(A[i],A[j]) else return (j);
end
end;
ep+r ép+ru
g2 H &2 H
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Function concow(n)
if n<=y then

writeln('STOP")
return y;

else
for i=y to n do

writeln(concow(n div Y))

return n
éng
T(n) = nT(gE'@ +n (2 T(n) = a T(8
éng
T(n) = T(gzé +n (4 T(n) = nT(8 3
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procedure algor(i,j)
if i=j thenreturn
k=¢gi+j)/2(
call algor (i k);
call algor(k+1,j)
end algor
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Procedure MergeSort(low,high,A)
begin
if low <high then
begin
mid=glow + high)/ 2(;
mer gesor t(L ow,mid,A);
mer gesor t(L ow,mid,A);
mer gesor t(L ow,mid,A);
end
end
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j= it
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void optsearchtree (int n, const float p[ ] ,float& minavg, index R[][]) {

index i,j, Kk, t; float A[l..n+1][0..n];

for (i=1; i <=n;i+H){ A[i][i-1] = 0; A[i][i] = p[i]; ROI[i] =1; R[i][i-1] = 0; }
A[n+1][n]=0;
R[n+1][n] = 0;
for(t=1t<=n-1;t++)
for (I =1; i <=nt; i++){
j=i+t
ALi][j] = minimum (ALl [k - 1] + AL k+ 1[]] )+ & Py

R[i][j] =avaueof k that gavethe minimum;

}
minavg= A[1][n];
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node pointer tree (indedx i, j}{
index Kk; node_pointer p;

k=R]0T
if (k==0) return NULL;
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p -> key = key[K];
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for i:=y to n-t+y do

{
Ji=it-y;
c[i,j]l=min(cf[i,k] + c[k+,j]+ di_l*dk*dj )
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function fibo( n : integer): integer;
var f,fy, fy,i:integer;

begin
fr=y;
fy:=y;

for i:=y ton do
begin
f.=fy+fy;
fy:=fy;
fy.=f,

end;
fibo:=f;
end;
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function c(n,m: integer) : integer;
begin
if (m=n) or (m=+) then
c:=)
else
¢ :=c (n-y,m) + ¢ (n-y,m-y)
end;
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main( }{

int  t[A][A];

int j;

for (j=-;]<¢f;j++)

t[j/8]1j%8] = (j%2) (2 t[j/8][j%68] = (j + (j/8))%2 (1
t[j968][j/8] = (j%62) (4 t[j968](j/8] = (j+(i/8)%2 (3
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void sumofsub(s,r,k){
X[K]=y;

if (stw[k]==m)
print(x[\] X[¥],....x[K]);

ese if (stw[k]+w[k+\] <=m)
sumofsub(stw[k] , r-w[k] , k+1);
if ((str+w[k] >=m) & & (stw[k+] <=m))

{
X[K]=+;

sumofsub(s,r-w[k],k+1);

}
}
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void insertionsort (int n, keytype § ] ){
index i,j; keytype Xx;
for (I=2 ; i<=n; i++){
x=di];
j=i-4
while( j>0 && di]>x) {
slj+1]=s[];
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void selectionsort (int n, keytype S ]){
index i, j, smalest;
for (i=1; i<=n-1; i++) {
smallest=i;
for (j=i+1;j<=n;j++)
if (s[j] < s[smallest])
smallest = j;
exchange g[i] and s[smallest];

}
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void exchangesort (int n, keytype §[ ]){

index ij;

for (i=1;i<=n-1;i++)

for (j=i+1;j<=n;j++)
if (s[j]<dli])
exchange g[i] and gj];

}
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uv =xw’ 10°™ +(xz+wy)” 10" +yz
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large-integer prod(large-integer u, large-integer v){
large-integer X,y,z,w,r,p,q;
int n,m;
n = maximum(number of digitsin u, number of gigitsinv)
if(u==0 || v==0)
return O;
else if (n<=threshold)
return u” v obtained in the usua way;

else{

m=¢n/2(;

X =u divide10™; y=u rem 10";

w=v divide10™; z=v rem 10™;

r = prod(x+y , w+2);

p = prod(x,w);

q = prod(y,2);

return  p” 10°™+(r-p-q) ~ 10™ +q;
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void floyd2 (int n,const number W[][],number D[][],index P[ ][] )
index i,j,k;
for(i=1; i<=n; i++)
for(j=1; j<=n; j++)
Hi][i]1=0;
D=W;
for(k=1;k<=n;k++)
for(i=1;i<=n;i++)
for(j=1;j<=n;j++)
if(Di][k]+DIK][j] < Dil[il)
{
Plilli1=k;
DLi][1=DIi][K]+DIK][i];
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void path(index q,r){
if (Pla][r] !=0){

path(q , Pla][r]);
cout<<"v"<<P[q][1] ;

path(Pla][r] , 1);
}
}
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void prim (int n, Const number W[ ][], set of edges& F){
index i,vnear; number min; edge €
index nearest [2..n]; number distance2..n];

F=f;

for (i=2;i<=n;i++){
nearest[i] = 1;
distance]i] = w[1][i];
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min = oo;
for (i=2;i<=n;i++)

if (0 <=distance]i] < min) {

min = distance]i];
vnear =i ;
}
e = edge connecting vertices indexed by vnear and nearest [vhear];
add e to F;

distance [vnear] = -1;
for (i=2;i<=n;i++){
if (w[i][vnear] < distance]i] {
distance[i] = w[i][vnear];
nearest[i] = vnear;

JBwg S o 555!

void kruska (int n,int m,set of edges E, set of edges& F){

index i, j;

set_pointer p, q;

edge €

sort the m edgesin E by weight in hondecreasing order;

F=f;

initia (n);

while (number of edgesin Fislessthan n-1)

{
e = edge with least weight not yet considered;

i, j = indices of vertices connected by €;
p = find (i);

g =find (j);

if (! equal (p, @)

{

merge (p, q);
addeto F;

oS o)Lw“ u“:‘*“l 65L‘> uwmpbaw@wy p=flnd (|) U
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void dijkstra(int n,const number W[][],set_of edges& F){
index i, vnear; edge € index touch[2..n]; number length[2..n];
F= f;
for(i=2 ; i<=n;i++){ touch[i]=1; length[i]=WI[1][i]; }
repeat( n-1 times){
min= ¥ ;
for(i=2 ; i<=n; i++)
if (O£ length[i] <min)
{
min=length[i];
vhear =i;
}

e= edge from vertex indexed by touch[vnear] to vertex indexed by vnear;
add e to F;
for(i=2 ; i<=n; i++)
if (length[vnear] + W[vnear][i] < length[i])
{
length[i]=length[vnear] +W[vnear][i];
touch[i]=vnear;

}

length[vnear]=-1;
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struct nodetype{ char symbol; int frequency; nodetype * left; nodetype * right;};
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for (i =1; i<=n-1; i++){

remove (PQ, p);

remove(PQ, g);

r = new nodetype;

r->left =p;

r->right= g;

r -> frequency = p -> frequency + g-> frequency;
insert(PQ, r);

remove(PQ, r);

return r;
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void queens(index i ){
index j;
if (promising(i))
if (i==n) cout << col[1] through col[n];

dsefor (j =1; j <=n;j++) {
col[i +1] =j;

queens(i + 1);

}
bool promising (index i){
index k=1;bool switch=tru;

while (k<i && switch){

if (col[i] == cal[K] || abs(col[i] — col[k] ==i —K)
switch = falsg
k++;
}
return switch;

}
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void sos(index i,int weight, int tota ){

if (promising (i))
if (wight ==W) cout << include[1] through includ€i];

dse{
includefi+1] = "yes";
sos (i+1, weight + w[i+1], total — w[i+1]);
includefi+1] = "no";
sos(i+1, weight , total — w[i+1]);
}

}

bool promsing (index i) {
return (weight + total >=W) && (weight == W || weight + w[i+1] <= W);
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void m_coloring (index i){
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if (promising(i))
if (i ==n) cout <<vcolor[1] through vcolor[n];
else for (color = 1; color <= m; color++)
{ vcolor[i+1] = color; m_coloring(i +1); }
}
bool promising (index i){
index j; bool switch; switch =ture j = 1;
while(j <i && switch) {
if (WIil[j] && vcolor[i] ==vcolor[j]) switch=fdse
i+
}
return switch;
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void hamilitonian (index i){
index j;
if (promising(i))
if (i ==n-1) cout << vindex[0] through vindex[n-1];
dsefor (j=2;j<=n; j++){
vindex[i+1] =j;

hamiltonian(i +1);

}
bool promising (index i){
index j; bool switch;
if i==n-1 && ! W[vindex[n—1] ] [vindex[0] ]
switch =fasg;
dseif (i>0&& ! W[vindex[i — 1] ] [vindex[i] ]
switch =fasg;
ese{
switch = true;
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while (j <i && switch){
if (vindex[i] = = vindex[j])
switch = false;
jt+

}

return switch;
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void find(int n,const keytype [ ], keytype& small, keytype& large){
index i;
if (S[1]<92]) { small=5[1]; large=H2]; }
ese { smal=92]; large=9[1]; }
for (i=3;i<=n-1;i=i+2){
if (gi]>di+1l]) exchange Si] and S[i+1];

if (9i]<smal) smdl=5[i];
if (gi+1]>large) large=S[i+1];

il o 95
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keytype selection (index low, index high, index k){
index pivotpoint;

if (low == high)
return Slow];
else

partition(low, high, pivotpoint);
if (k == pivotpoint)
return S[pivotpoint];
ese if (k <pivotpoint)
return selection(low, pivotpoint - 1, k);
ese
return selection(pivotpoint + 1, high, k);

}

void partition (index low, index high,index& pivotpoint){
index i,j; keytype pivotitem;
pivotitem = S[low];
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for (i=low + 1; i<high; i++)
if (§i] <pivotitem)
j+
exchange §i] and §];
}
pivotpoint = j;
exchange §low] and S[pivotpoint];
}
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keytype select (int n, keytype index)

{
return selection2 (s, 1, n, k);

keytype selectiony (keytype § ], index low, index high, index K)
{
if (high ==low)
return S[low];
dse{
partitiony(S, low, high, pivotpoint);
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return §[pivotpoint];

ese
if (k <pivotpoint)
return selectiony(S, low, pivotpoint - 1, k);
else
return selectiony(S, pivotpoint + 1, high, k);
}

void partitiony (keytype §[ ], index low, index high, index& pivotpoint)
{
const arraysize = high-low+1;
const r= [arraysize/ 5] ;
index i, j, mark (first, last;
keytype pivotitem, T[1..r];
for (iI=1;i<=r;i++)
{
firss=low+5*i-5;
last = minimum(low +5 * i - 1, arraysize);
T[i] = median of S[first] through S[last];
}
pivotitem = select(r, T, €r+1)/2();
j = low;
for (i=low; i<= high; i++)
if (S[i] == pivotitem)
{
exchange §[i] and §j];
mark= j;
+
}
else if (§i] <pivotitem) { exchange §[i] and g[j]; }
pivotpoint = j-1;
exchange S[mark] and S[pivotpoint];
}
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void siftdown ( heap& H){
node parent, largerchild;
parent = root of H;
largerchild = parent’s child containing larger key;
while (key at parentissmaller than key at largerchild) {
exchange key at parent and key at largerchild;

parent = largerchild;
largerchild = parent’s child containing larger key;

(f0/o QPCIRI[ I 4

cheap 555 Lis b asy) ,o oS i

keytype root (heap& H){
keytype keyout; keyout = key a the root;
move the key at the bottom node to the root;
delete the bottom node;
siftdown(H);
return keyout;}
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void removekeys (int n, heap H, keytype 9 ]){

index i;
for (i=n;i>=1;i--)
gi] = root(H);

makeheap Jlg, -¥f
void makeheap (int n, heap& H){
index i;
heap Hsub;
for (i=d-1;i>=0;i--)
for ( all subtrees Hsub whose roots have depth i)
siftdown(Hsub);
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